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Guess Paper – 2010

Class – X

Subject – Maths
General Instructions :

1. All questions are compulsory.

2. The question paper consist of 30 questions divided into four sections – A, B, C and D. Section A comprises 10 questions of 1 marks each, section B comprises 5 questions of 2 marks each, section C comprises 10 questions of 3 marks each and section D comprises 5 questions of 6 marks each. 

3. All question in section A are to be answered in one word, one sentence  or as per exact requirement of the question.

SECTION – A
1)
An army contingent of 616 members is to march behind an army band of 32 members in a parade. The two groups are to march in the same no. of columns. What is the maximum no. of columns in which they can march ?

2)
Divide the polynomial
x 4 – 5 x + 6  by
2 – x2  and find the quotient and remainder.

3)
On comparing the ratios, 

 find out whether the following pair of linear equations 

6x  - 3 y  + 10  = 0
   and    2 x  -   y  +  9  = 0
are consistent or inconsistent.

4)
How many two digits no. are divisible by 2 ?

5)
If 
cos[image: image1.wmf]q

 + cos 2
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 = 1, then find the value of  sin 2
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 + sin 4
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.

6)
A rectangular sheet of paper 44 cm x 18 cm is rolled along its length and a cylinder is formed. Find the curved surface area of the cylinder.

	7) 

8)
	In the adjoining figure, if (ATO = 400, find (ACB.

If 
( ABC   (  ( DEF, 

(A = 36 0   and (E = 74 0.  Find (C. 
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9)
Find the value of 
x    if  the  mode of 
15, 20, 25, 18, 14, 15, 25, 15, 18, 16, 20, 25, 20, x, 18 and 25 
  is 25. 

10)
A pair of  dice is thrown. Find the probability of getting a sum of 10 or more ?

SECTION – B            

11)
Form a pair of linear equations in two variables to find   boys and girls .

23 students of class X took part in a Mathematics quiz. If the number of girls is 7 more than the number of boys.

12)
Prove that : 
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13)
Find the distance between the points  ( 2 cos 350 , 0 ) and  ( 0, 2 cos 550 ). 

14)
O is point inside a rectangle ABCD. Prove that
OB2 + OD2 = OA2 + OC2
15)
A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn, find the probability that it is a composite number. 
OR



Find the probability of happening 29 th February.

SECTION – C            

16)
Construct (ABC with side BC = 6 cm, (B = 600, AC = 7.5 cm. Construct  (BC’A’ ( (BCA with BC’ = 8 cm.

17)
If   5 is added to numerator of a fraction, it becomes 3 and if 11 is added to the denominator, it becomes  
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. Find the fraction.

18)
 If   (1, 2 ),  ( 4, y ), ( x, 6 )  and  ( 3, 5 )  are  the vertices of  a parallelogram taken in order, find x and y.
19)
Prove 
that 
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OR

Without using the trigonometric tables, evaluate :
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	20)



	          In the given figure, ABCD is a trapezium in which AB( ( CD and its diagonals intersect  at O.

         If  AO =  ( 3x – 1 ) cm, OC =  ( 5x – 3 ) cm,             BO =  ( 2x  + 1 ) cm and AO =  ( 3x – 1 ) cm, find the value of x.

OR

The perpendicular from A on the side BC of a triangle intersects BC at D,  such that DB = 3 CD. 

Prove that 
2 AB 2 = 2 AC 2 + BC 2
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21)
Show that the cube of any positive integer is of 

the form 9m, 9m + 1 or  9m + 8.

	22)

23)
	 Find the sum of  first 35 terms of the sequence whose n th term is given by   a n = 3 + 
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 n

OACB represents a circle of radius 3.5 cm with centre O. 

a) Calculate the area of the quadrant OAB.

 b) Given OD = 2 cm, calculate the area of the shaded portion.
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24)
Solve the pair of equations:
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 = 13
 and
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25)
Name the quadrilateral formed by the points 
  ( 1, 7 ),  ( 4, 2 ),   ( -1,-1 ) and   ( -4, 4 )  as its vertices taken in order. Give reasons for your answer. 

OR

  
 In what ratio does the point ( - 4, 6 ) divide the line segment joining the points A ( - 6, 10 ) and B ( 3, - 8) ? 
SECTION – D          

26)
In a parallelogram prove that the sum of the squares of the diagonals is equal to the sum of the squares of the sides.

OR

            Prove that the ratio of the areas of the two similar triangles is same as the  ratio of the square of their corresponding sides. 




Using the above theorem do the following :-



In a trapezium ABCD, AC and BD are intersecting at O, AB[image: image21.png]


DC and AB = 2 CD. If area of (AOB = 84 cm2, find the area of (COD

	27)
	A, O, B, are centers of circles. Find the area of the shaded region if the radius of small circles be 7 cm 

OR

A container, opened from the top and made of a metal sheet is in the form of a frustum of a cone. The radii of upper and lower ends  are 28 cm and 7cm respectively with 45 cm height. Find the cost of milk which can completely fill the container at the rate of Rs 22 per liter. Also find the cost of metal sheet used to make the container, if it costs Rs 15 per 100 cm 2. 

 .
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28)
Difference of two numbers is 9 and the difference between their reciprocal is 
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108

. Find the numbers. Also find their reciprocal up to 3 decimal places.

29)
A 1.2 m girl spots a balloon moving with the wind in a horizontal line at a height of 88.2 m from the ground. The angle of elevation of the balloon from the eyes of the girl at any instant  is 600. After some time, the angle of elevation reduced to 300. Find the distance traveled by the balloon during the interval. 

30)
Find the mean, median and the mode for the following data. 

	Marks Obtained
	38
	40
	42
	44
	46
	48
	50
	52

	Number of students
	0
	3
	5
	9
	14
	28
	32
	35
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